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Question 1.Select the related word/letters/numbers from the given alternatives:

& I farehenl & & Hafeerd Qree/ 3ieR/Ean 1 v
Calender : Dates : : Dictionary: ?

FolE] | AR :: G I :?
Options:

1) Words

Asq

2) Books

q&Th

3) Language

1S

4) Vocabulary

HEAG ]

Correct Answer: Words
e

Candidate Answer: Vocabulary

HEACEE

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
ACEG : BDFH : : PRTV : ?

Options:

1) QSUW

2) WUSQ

3) OQsuU

4) CEGL
Correct Answer: QSUW
Candidate Answer: QSUW

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
15:225::12:7

Options:

1) 144

2) 122

3) 112

4) 222
Correct Answer: 144
Candidate Answer: 144
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

fow 1T faremodt & & fawa ereey 37T/EEaT Z7A I giaw
Options:

1) Teacher and Student

ot iR B

2) Chemistry and Science

T2 3R faameT

3) History and Mathematics

sfaer 3R oo

4) Air and Oxygen

arg AR 3iferdrate

Correct Answer: History and Mathematics

sfaem 3T 1o

Candidate Answer: History and Mathematics

sfaem 3R 1O

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

U 1w fashedl & & Tawe efee) 376T/HET 1 iaw

Options:
1) DGI

2) IMO
3) PRT

4) TWY
Correct Answer: PRT
Candidate Answer: PRT

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

U 1w faehedl & & Tawe efee) 37&T/HET 1 giaw
Options:

1) 343

2) 64

3)75

4) 27
Correct Answer: 75
Candidate Answer: 75

Question 7.Arrange the following words as per the order in a ditionary.

TAFAfQfET 2rsel i1 el & T 97T e & IeTeR e
1. Drum

2. Drubbing

3. Drunken

4. Drudgery

5. Duster



Options:
1)3,1,5,4,2

2)2,41,3,5
3)1,3,4,5,2

4)2,1,4,3,5
Correct Answer: 2,4, 1,3,5
Candidate Answer: 2,4, 1, 3,5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

TArATARAT TeaT # Ueh 37eTehe 1T 197 B, forast veh ve ofcd &1 few 1w faehedl & ag @éY fashoq giaw Sit 3iegsha sl U Y
BMY, DNW, FOU, ?

Options:

1) GHO

2) HGO
3) HPS

4) HPT
Correct Answer: HPS
Candidate Answer: HPS

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

TArATARAT TeaT # Ueh 37eTehed 11 191 B, TSrast veh ve oed &1 few 1w faemedl 7 & ag @éT faehoq 9ieiw it 3iegshal sl U
(3,5), (5 7)(?), (11, 13)

Options:

1)(7,9

2) (7, 11)
3) (9, 11)

4) (9, 13)
Correct Answer: (7, 11)
Candidate Answer: (9, 11)

Question 10.I go 5 km East, then turn right and go 8km. Then I turn left and go 5 km and then I turn left and go 8 km. At what distance am I from the starting point?

#Hqg 1 3T 5 AL ST €, Y &t 31X 773e 8 foh. . STielm § 1 3 O ot 3K 773t € 37 5 foh.afh, e € 3R i 3 T 317 oz € 3 8 fh. o, et €1 IRfesren
o & H e gy € ?

Options:
1)8

2)0
3) 10

4)5
Correct Answer: 10
Candidate Answer: 10

Question 11.Pankaj is taller than Vinod, who is shorter than Pramod. Usha is taller then priyanka but shorter than Vinod. Pramod is shorter than Pankaj. Who is the
tallest?

Gehot faeile & ofel &1 fawile veiie & Biel §1 39T Tigent & ofdl § fhed Taeilc & SIdT &1 TG dehol & ST §| He& oisll &l § ?
Options:

1) Priyanka

[EREDS

2) Pramod

gHE

3) Vinod

EOI

4) Pankaj

et

Correct Answer: Pankaj

Yehol

Candidate Answer: Pankaj
et



Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

e fashed! & § g Wee YIAT S T 1T 2 & 31RT T TN Feh 761 ST ST Fehell
MEASUREMENT

Options:

1) Master

2) Eastern

3) Summit

4) Mean
Correct Answer: Summit
Candidate Answer: Summit

Question 13.In a certain code, "go home" is written as "ta na" and "nice litle home" is written as "na ja pa". How is "go" written in that code?

Ry 15 & ' GO HOME' 1 'TA NA ' 3R "NICE LITTLE HOME" &I "NA JA PA " foraT SiTaT § af 38 &1 & "GO" Y & for@r smear ?

Options:
1)ta

2) na
3) ja

4)naorta
Correct Answer: ta
Candidate Answer: ta

Question 14.If P denotes '+', Q denotes 'X', R denotes '+' and S denotes '-', then

IREPHF FT '+ §, QFH3T X &, RFTIT '+' g, 3R S 130 ' §, O ReaAfaf@a wead &1 A A
18Q12P4R5S6 = ?

Options:

1) 53

2) 54

3) 57

4) 95
Correct Answer: 53
Candidate Answer: 53

Question 15.If 23 x 16 = 184, 37 x 10 = 185, then 85x 12 = ?

If& 23 x 16 = 184, 37 x 10 = 185 &, AT 85x12 &I AT AT HIfIT

Options:
1) 511

2) 610
3) 510

4) 410
Correct Answer: 510
Candidate Answer: 510

Question 16.Select the missing number from the given responses

T 1w ket & & oo FET AT

2 4 2‘.4




Options:
1)2

2)3
3)10

4) 11
Correct Answer: 10
Candidate Answer: 10

Question 17.Rana walks 20 m straight in north direction and 20 m to the right. Then every turning to his left he walks 5, 25 and 25 metres respectively. How far is he
from his starting point now?

O Jeax faRmr # 20 #rex e 3 T 20 e ST H3T TefalT § | T &7 IR AT {3 HA: 5, 25 3R 25 AT <ol ¥ 3R T 8 9 frctel gy & 2
Options:

1)5m

5 #ieY

2)20m

20 #rex

3)25m

25 X

4)30m

30 #rex

Correct Answer: 5 m
5 #Miex

Candidate Answer: 5 m
5 #Hrex

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: 1. Some girls are stars.

2. Meena is a girl.

Conclusion I: Meena is a star

ConclusionII: Some stars are not girls

AR TR & T IT & ey &Y 71 §, o 3t &Y fosehy/Agang, 1 31k I el 33 &1 31m9eh! faaR T & T aoFaed TcT § I8 98 T d: o a2 &
et I 1T &Yl 3TIeh! AT aRaTT & 6 U 91T gy & & ia-a1 A faa &7 & ag fasey/aAadr [ 51 Tehar § ?
FFISH : 1. S 5fhAT TN E

2. AT 5 &1

G BB ciksard

11 %o TR oIsforar =18 8

Options:

1) Only Conclusion I follows

el sy I @@ R

2) Only Conclusion II follows

el fshy 11 TEY &1

3) Both Conclusions I and II follows

sy 131 11 =t w8

4) Neither conclusion I nor II follows

AT ar ey 1 oy § 3% a7 & T 11 @ 81

Correct Answer: Only Conclusion II follows

Fad sy 11 T8 ¢
Candidate Answer: [ NOT ANSWERED ]

Question 19.How many triangles are there in the question figure?

& a1$ 3mepfey 3 ey Peer € 2

N




Options:
1) 16

2)23
3)26

4) 31
Correct Answer: 31
Candidate Answer: [ NOT ANSWERED ]

Question 20.1dentify the diagram that best represents the relationship among classes given below:
T8 3N YIAT S 7R T 1T a9t & ey T Feer 1 SRl & ?
Professors, post graduates & employed.

Options:
1)

2)

3)

-

4)

S

of

Correct Answer:

g

Candidate Answer:

S



Question 21.Which answer figure will complete the pattern in the question figure?

FHleT-TT SoclX 3Tt TR SMFTA & FTTdT T T M 2

A!ﬁﬂh

Options:
1)

2)

)

4
I.
|
|
[

Correct Answer:

Candidate Answer:




Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 1 Seal ITHTAT # A 3 3eak 3Ff 1 IfAT forws yea anpfa Afka €2

Options:

N
-

K

W
-

V)

=

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I faelt hrarer 0, el et JTHforat 7 R 3TAR HISH FeT ST A Weld F F1G J6 e Seal TSI SHT fwrs & ?

P H N ‘




Options:

v
:
yHAEAEEE
;
)
3)
0
jul
Q
jul
4)
= <=
= | <>
Correct Answer:
.---i.---.
Lo (7

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is places on the line MN, then which of the answer figures is the right image of the given figure?

I T EdoT T MN Y@T T T@T ST A & 78 Seak Tt 3 F HleT-Ar 3T sreat 3l a1 wer wfafee gefr 2




Options:

1)
2)
Nl
3)
4)
S ( - :
Correct Answer:

il

Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'A' can be represented by 04, 12, etc., and 'R'
can be represented by 55, 67, etc.Similarly, you have to identify the set for the word 'BENT".

RrAfaf@a veat 7 fsredt 7 U a1v Fear-wag, 3w & & 991t gan erffe 717 §, S fo &y few arw aF smeggh # 81 3meyg [ & Fawt AR died fraearo a4 d &
T ¥, I HTegg 11 & 5 T 9 A, ST MTcTgH A Teh &R Y Tget SR I 3T o1 3 ToTe7 TEaT ZaRT aRfiam ST &bl €1 3aTedor & fIw, A &Y 04, 12, TR 2T i
SIT GehelT & YT R T 55, 67,311 SaRT SRITAT ST HehelT & | SH ol & 3MTeh! T 2reg 'BENT' & foIT Hofg a1 qgiiet=T &1

MATRIX | MATRIX Il
6|1 2| 3|4 S |&| 2| 8B|9
lo| sl c/o[e|alls]rlolN[T]|U
1| D E|A| BT ||8|(T|U|R|O|N
2] clo|e|als||7|o|n]T| v R
3| A B(C| D|E||B|U|IR|D|IN|T
4| E/A(B|C|D||la|(NIT|U |”R|O



Options:
1) 42, 34,79, 77

2) 00, 11, 76, 78
3) 31, 22, 88, 58

4) 42, 34, 76, 88
Correct Answer: 31, 22, 88, 58
Candidate Answer: [ NOT ANSWERED ]

Question 26.Which of the following states has the lowest literacy rate?

AT Tsat & I s Tow o aeRaT el § ?
Options:

1) Kerala

el

2) Rajasthan

TSEATH

3) Bihar

SR

4) Maharashtra

HERTSE

Correct Answer: Bihar
R

Candidate Answer: Bihar
fesr

Question 27.0n which date is India likely to experience the shortest day?

AR H T BT et Fe glarg ?
Options:

1) December 22

22 fgaF

2) March 21

21 ARY

3) June 22

22 A

4) September 23

23 farR

Correct Answer: December 22

22 feaFR

Candidate Answer: September 23
23 fadqe s}

Question 28.Precipitation in the form of a mixture of rain and snow is called

FIRer 3R RRAITT & T T gt T AT T AT gl § 7
Options:

1) Drizzle

Rt siRer

2) Hail

KD

3) Sleet

FhfelT sTR=r

4) Snow

feHaTT

Correct Answer: Sleet

TR aTREr

Candidate Answer: Snow

RFaTaT

Question 29.Fuse wire is made of an alloy of

Tt R e fAeng & S g 2



Options:

1) Tin and Lead

T AR o5

2) Tin and Copper
fesT 3R e

3) Lead and Copper
EERIGIEN

4) Copper and Silver
arer 3R ReaR
Correct Answer: Tin and Lead
et AR o5

Candidate Answer: Tin and Copper
feet 3R e

Question 30.Bacterial decomposition of biological material under anaerobic condition is

Jrargdrr Feafar 7 Sifds ger & Sharo] Jiaees & 1 Fgd § ?

Options:

1) fermentation
[EacoicTus

2) fertilization
SEHIOT

3) contamination
{gyoT

4) composting

FHFIITECIT

Correct Answer: fermentation

fpuaseoT

Candidate Answer: composting

FHFGITECAT

Question 31.Which of the following has the lowest frequency?

FefaRad # & fre-3 weras smafea @ & 2
Options:

1) Visible light

TRY YhRT

2) Gamma rays

AT fRoT

3) X-rays

X faot

4) Ultra violet rays

T S9TedT foReoT

Correct Answer: Visible light
TRY JhRT

Candidate Answer: Visible light
TRY YhRT

Question 32.UDP is a

UDP FITE ?

Options:

1) connection - oriented protocol
FrRI T S

2) connectionless protocol
FeAeRleT I TIekTer

3) user-defined protocol
FoR-TSHEUS Wiekhler

4) security protocol

THrTREr Aiciepte

Correct Answer: connectionless protocol

Folorere Igd FIekhrer
Candidate Answer: [ NOT ANSWERED ]

Question 33.The important book written by Kautilya is

Ffeed eaRT IR JTg Tocieh Hief T &2



Options:

1) Arthashastra

3T

2) Indica

gfUsar

3) Arya Manju Sri Mula Kapa
3T Heof AT Fel FTIT

4) Rajatarangini

REGHE

Correct Answer: Arthashastra

3R

Candidate Answer: Arthashastra

3R

Question 34.The northern part of the west coast in India is known as

HRA H 9R=e dc & Scail HI9T o FIAT Fed & ?
Options:

1) Konkan coast

HIRUT AT

2) Coromandel coast

FRIFASA AT

3) Malabar coast

HATAEIR dc

4) Godavari Coast

aMerast ae

Correct Answer: Konkan coast
HIRUT AT

Candidate Answer: Konkan coast

HIHOT I
Question 35.The elements known as primary nutrients for plants

gt & forw graffe 9ive dcal & &7 7 AT dcd Sl T 87
Options:

1) Nitrogen, Phosphorus and Potassium

ATSEIST, BRARA 3T AR

2) Nitrogen, Oxygen and Silicon

ATSEIST, 3o 3R RAfoi

3) Potassium, Boron and Nitrogen

R, IR 3R ARge

4) Nitrogen, Phosphorus and Iron

AT, BIEHRY 3R elgr

Correct Answer: Nitrogen, Phosphorus and Potassium
AT, BIEHRY 3R iR

Candidate Answer: Nitrogen, Oxygen and Silicon
ASeIer, 3iTedeteT 3R Rafdwia

Question 36.Which sanctuary in India is famous for Rhinoceros and in which state is it located?

A2 & fow gfdg 3naRvy Fla-W g R g o T ARYT § ?
Options:

1) Gir, Gujarat

R, TRl

2) Kaziranga, Assam

ISR, 31EH

3) Ranthambore, Rajasthan

TR, et

4) Corbett, Uttarakhand

FT, 3ca@US

Correct Answer: Kaziranga, Assam
Candidate Answer: Kaziranga, Assam

PSR, 3T
Question 37.'Davis Cup’ is associated with the game of

ST T T FET FH YT AR ?



Options:

1) Cricket

fonhe

2) Lawn Tennis

et e

3) Badminton

SsfAee

4) Table Tennis

ot fae

Correct Answer: Lawn Tennis
deT o

Candidate Answer: Lawn Tennis
dleT

Question 38.Charles Darwin, the famous evolutionist, proposed his theory in which one of his books ?

wilig fasrearer ared Sifde o uel fohet e # 39t RgTea o wfrdtesT fama ?
Options:

1) The families of flowering plant

& HfANST 3T FollaRaT Tollee

2) The origin of species

& RIS 377w Tidis

3) The life on earth

g oe 3ifeT 31T

4) The story of the living world

g TN 3T & fodTer aos

Correct Answer: The origin of species
g 3RS 37w T
Candidate Answer: The origin of species

g 3RS 377w T
Question 39.'Green Banking’ means :

‘afieT Sfer ST T 3 R ?

Options:

1) Banks financing agriculture

HY &7 e Avor e are dw

2) Banks financing irrigation projects

T TR 1 faed aroT e arer d

3) Banks financing farmers

fremEAT T faed GIvoT i aTel 9o

4) Banks financing pro-environmental projects
JATIAROT TReN IRANSAT Tl faed o = arel S
Correct Answer: Banks financing pro-environmental projects
JATTAROT TReN IRANSTAT3T T facd Aor = arel S

Candidate Answer: Banks financing pro-environmental projects
JaTaRoT TRl IRITSTAT HT fAed ToT e arel S

Question 40.Who was the first Indian Governor General of Independent India?

Tad=T AR & TUH AR IR Al hied & ?
Options:

1) Rajendra Prasad

Toleg; TG

2) C. Rajagopalachari

. TSTaNaTeTaT

3) A. Kriplani

Q. el

4) Lord Mountbatten

dIS ABUCseT

Correct Answer: C. Rajagopalachari

&, TeramTeEmY

Candidate Answer: C. Rajagopalachari
. JeTeiaTeraRy

Question 41.A fresh egg when placed in salt water will

T dTot 3103 &l 5T8Hh & TTAT 7 STl W FATEIAT § ?



Options:

1) sink and go to the bottom

ST ol  <Iell ST §

2) sink but will not go to the bottom
T4 AT & et el 3 e ST &
3) float

dRarg

4) burst

HE ST &

Correct Answer: float

g

Candidate Answer: sink and go to the bottom
S ol A <ol AT &

Question 42.A genetically engineered form of brinjal known as the BT-brinjal has been developed. The objective of this is

da1eT 1 U JTAIRIE TSNt S BT-fisTer & a7 & Sl el @, Farenfiia o a1$ &1 sae g ar @

Options:

1) to make it pest resistant

4 e Wl g9 & fow

2) to improve its taste and nutritive value
8% TG 3R 99 dcal i §el & folw
3) to make it drought resistant

3 T A I & e

4) to make its shelf-life longer

HH! AT Shaet Jer & fow

Correct Answer: to make it pest resistant

Y e U 5o & e

Candidate Answer: to improve its taste and nutritive value

% TG1G 3R 91 dcal T g6l o TolT

Question 43.Three crops that contribute maximum to global food grain production are

Af¥as @iehTe+ 3cUTee # TOFAH ANTEHT F TN dieT FHel HleT-A & ?
Options:

1) wheat, rice, barley

3g, =, st

2) rice, maize, sorghum

ATael, FFhT, TEH

3) wheat, maize, sorghum

4) wheat, rice, maize

3g, TG, FerhT

Correct Answer: wheat, rice, maize
3, e, FerHT

Candidate Answer: wheat, rice, maize
3, <Irered, FHerhr

Question 44.Which of the following is a tertiary activity?

Arfaf@a & @ Hla-ar gefrg fraren g2
Options:

1) Farming

@dr

2) Manufacturing

afaaor

3) Dairying

IR

4) Trading

E

Correct Answer: Trading

E

Candidate Answer: Trading

i

Question 45.The compound used in prickly-heat powder to prevent excessive sweating is

3cafiE g FF Aot F faT el € 133 7 Hl-3 201 1 gaier Far srar g ?



Options:

1) Boric acid
SN 33

2) Phosphoric acid
PBIRERIRER3FT

3) Carbonic acid
Eaciiceakie

4) Sulphonic acid
Hehifalen 3Fe

Correct Answer: Boric acid
RSP 37T

Candidate Answer: [ NOT ANSWERED ]

Question 46.Which of the following is least likely to be an effect of global warming?

gz a9 gie A fefaf@a 7 & freer e verma gl iy e gidr & 2
Options:

1) Increased frequency of hurricanes

Tt (FREReT) T TR-IR &l

2) Loss of fertile delta region as for agriculture

F & T 36— Seer & 1 4T gl

3) Decreased rate of photosynthesis in vegetation

FATATS F TFHR-ERATUT T &I H FHAT gledT

4) Shrinking of the polar ice regions

g fee &1l o1 fRgpgetr

Correct Answer: Decreased rate of photosynthesis in vegetation
FATATS F TRR-ERATUT T &I H FHAl gledT

Candidate Answer: Shrinking of the polar ice regions

g fee &1l 1 Rgpget

Question 47.Which State in India has introduced FAT Tax on junk food

R & rT Tod o 57 B WX the ¢ e § ?
Options:

1) Rajasthan

o)

2) Kerala

Erey

3) Andhra Pradesh

38T WS

4) Bihar

fagR

Correct Answer: Kerala

I
Candidate Answer: [ NOT ANSWERED ]

Question 48.Gandhiji's first Satyagraha in India was held at

Wﬁ?ﬂ?ﬁﬁﬁa?rqawmaﬁgm o7 ?
Options:

1) Champaran

TFIROT

2) Ahmedabad

MgHACEIS

3) Kheda

@gr

4) Allahabad

ERIGEICY

Correct Answer: Champaran
FFIROT

Candidate Answer: Kheda
@gr

Question 49.Golden Quadrilateral Project for the development of National Highways was initiated by

TSET TAART & e & fow waftis aqefsr aRaise e qanT & & o o ?



Options:
1) PV Narasimha Rao

r.dY. R Ia

2) I K Gujral

IS, TN

3) Manmohan Singh

ATHIG g

4) Atal Bihari Vajpayee

3Jree FoEr arera=it

Correct Answer: Atal Bihari Vajpayee
3Jree foEr arera=t

Candidate Answer: [ NOT ANSWERED ]

Question 50.Which of the following sources has the largest share in power generation in India?

R A faegd 3cuteet # Tad 31 ey faearfaf@d faemedl & & fradhr § 2
Options:

1) Atomic power

AR Fr

2) Thermal power

AT FaAl

3) Hydro power

REEEE

4) Wind power

arg Feft

Correct Answer: Thermal power

A Fall

Candidate Answer: Hydro power

REEEE

Question 51.24 men can do a piece of work in 17 days.How many men will be able to do it in 51 days ?

24 cafaa frel 1 117 et F X aoha §1 51 feT 3 fraey 3mesl 58 &1 &1 QU X Thar?
Options:

1)8

2)10

3)12

4)6
Correct Answer: 8
Candidate Answer: 8

Question 52.In a cyclic quadrilateral ABCD , the side AB is extended to a point X. If 2XBC = 82° and 2ADB = 47° , then the value of 2BDC is

U I TGS ABCD H, AB 1T &I foleg X e SGHIT STl & | A& 2XBC = 82° 31 LADB = 47° 81 dt £BDC & Hlef TSV ?
Options:

1) 40°

2) 35°

3) 30°

4) 25°
Correct Answer: 35°
Candidate Answer: 40°

Question 53.The marked price is 10% higher than the cost price . A discount of 10% is given to the marked price . In this kind of sale the seller

3iferet Hed T 7T § 10% 370 1 3ifohe Hed IR 10% 1 e & 18 &1 38 FohR a1 frshy ¥ Farsar a1 -
Options:

1) bears no gain , no loss

AaTara g IR aTE A g

2) gains

Gl

3) loses 1%

1% Fefa &

4) None of these

SoTH A IS LT

Correct Answer: loses 1%

1% Fr gt &

Candidate Answer: [ NOT ANSWERED ]



Question 54.Two humbers whose sum is 84 can not be in the ratio

& wEat fSeTe Aerher 84 §, 3 Teifaf@ra # & RoRer 31egaret # 76T 87wt ?
Options:

1)5:7

2) 13:8

3)1:3

4) 3:2
Correct Answer: 3:2
Candidate Answer: 1:3

Question 55.By selling cloth at Rs. 9 per metre , a shopkeeper loses 10% . Find the rate at which it should be sold so as to earn profit of 15%

Tl GHTTER #T I HUST Rs. 9 Ffet Flex T &7 R el W 10% T g1fe el &1 13T foh st by e o) S Se frad GieTer &l 15% T 318 81 ?

Options:
1) Rs.11.20

2) Rs.11.30
3) Rs.11.40

4) Rs.11.50
Correct Answer: Rs.11.50
Candidate Answer: [ NOT ANSWERED ]

Question 56.After selling 5% of a quantity of sugar, 5 Kgs of sugar remains . Find the total quantity of sugar?

AT T ol HIAT T 5% ST ek STet o a1 5 Teham et iy &1 <ioft 261 oot AT AT 2
Options:

1) 19Kg

19 fk.am.

2)

5
SE kg

c3
13 ..

3) 100 kg

100 f.am.

4) 95 kg

95 fR.am.

Correct Answer:

5
SE kg

5
T
.am.

Candidate Answer: [ NOT ANSWERED ]

Question 57.A train 110 metres long is running with a speed of 60 kmph . In what time will it pass a man who is running at 6 kmph in the direction opposite to that in
which the train is going ?

110 7. T &oT 60 fh.3. U 6¢ HT AR F 1 W ¢ IS IS SAqFd oo 7 Il o= 7 6 6.7 9fey 6 1 TR & I3 T 81 af ST oh ¢of 39 cTiard i fohcdai!
& H IR T IR ST ?
Options:

1) 5sec

5 ¥hsd

2) 6 sec

6 ThsH

3) 7 sec

7 VhgH

4) 10 sec

10 Tz

Correct Answer: 6 sec

6 Thsa

Candidate Answer: 6 sec

6 YehsH



Question 58.If x = at? and y = 2at then

iy x = at 23Ky = 2atgrar
Options:
1) ¥% = 4ay

2) y2 = 4ax
3)x2 +y2 =a?

4)x2-y? =32
Correct Answer: y2 = 4ax
Candidate Answer: y? = 4ax

Question 59.
1+y?

If xy + vz +zx = 1, then the value of mis
ATYNYTZ

1+y2

Ay + yz +zx = LETaTm

&I HI dd1HT 7

Options:
1)2

2)3
3)4

4)1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 60.If PQ and PR be the two tangents to a circle with centre O such that 2QPR = 120° then 2POQ is

I R geat forae 3o O &, & & T2 Y@d PQ 31X PR ¥t 8 3 QPR = 120°, &Y T LPOQ T et ?

Options:
1) 90°

2) 45°
3) 30°

4) 60°
Correct Answer: 30°
Candidate Answer: 90°

Question 61.In A ABC , if zBAC = 90° and AB = AC, then 2ABC is

AABC # I1fg 2BAC = 90° 31X AB = AC & af LABC &7 21T ?

Options:
1) 30°

2) 60°
3) 45°

4) 25°
Correct Answer: 45°
Candidate Answer: 45°

Question 62.The value of tan 315° cot (- 405° ) is equal to

tan 315° cot (- 405° ) & HIeT F1T g1 ?

Options:
1) -1

2)1
3)0

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]



Question 63.Among three numbers , second is twice the first and also thrice the third . If the average of the three numbers is 33, then the largest number is

et HEATHT # G@l HEAT Ygell TedT I gl 3R el dean @ Taefe 81 afe; el deansit o1 3iad 33 gY Al Ted a2t Hedn i @ gieh ?
Options:

1)36

2) 54

3) 62

472
Correct Answer: 54
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of 100 items was found to be 30 . If at the time of calculation , two items were wrongly taken as 32 and 12 instead of 23 and 11 , then the
correct average is

100 #HeF &r 3iad 30 97 3| TfE R & T & Ael &t 23 3R 11 F T W aTerdt & 32 3R 12 1= arar g ar T8 3iaa Far g ?
Options:

1) 29.8

2) 29

3) 29.9

4) 29.5
Correct Answer: 29.9
Candidate Answer: [ NOT ANSWERED ]

Question 65.A box weighs 8.5 kg when full of sand and weighs 5.5 kg when it is half filled with sand . Weight of the empty box is

P THT ST I I IRT AT &1 A 3T FoieT 8.5 5. 30T, T § 3R T ag 3meN 9T @cAT § Y 3TRT FofeT 5.5 6.3, BT ¥ W T Tl Toled BT ?
Options:

1) 5kg

5 fo.am.

2)6kg

6 foh.am.

3) 2.5kg

2.5 fm.am.

4)45kg

4.5 f.am.

Correct Answer: 2.5 kg
2.5 fF.am.

Candidate Answer: [ NOT ANSWERED ]

Question 66.
1 1 T -
.I'fﬂ,-i‘g: 1::mdb+E =1,rhenthevaiueofc+a is

1 1 1
aﬁmgz 13#‘|T.i_~;+E=LB’rﬁ’rHE T HIT FTRIAN ?

Options:
1)0

2)1
3)-1

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]



Question 67.
Two circles touch externally.The sum of their

22
areas i5 130w sq.cm (takmgn’ = 7) and the distance between their

centres is 14 cm.The radius of the bigger circle is

ST Iea T & TITFR £ | I ATAme T
AT 130 T AR (ﬂ%’ﬁm‘t‘rg{fﬁﬁr = %)

ST 37 eed 5 AT ET gl 14 AL B

d5 gl dod s AT W 2

Options:
1) 22 cm
228.4
2) 11 cm
11 3.7
3)33cm
33 |
4) 44 cm
44 7.7,

Correct Answer: 11 cm
11 3.7

Candidate Answer: [ NOT ANSWERED ]

Question 68.
In an equilateral triangle of side 24 em, o circle is
inscribed touching its sides . The area of the remaining
portion of the triangle is opproximately equalto
{assuming m™ = % &3 =1732)

131 e 33T 7 [GET & 8= 24 §OH0 §
U Hrdded & Sl ST AT Fi 0 & 6T 8
FAgor &7 AT HITT FT GTADe oaI#Ha] [ahwich aelav 519

Tg Al §¢ & (assuming m = 72 &v3=1732
Options:

1) 36.6 cm?

36.6 9.7.2

2) 54.2 cm?

54.2 4.7 .2

3) 72.8 cm?

72.8 4.4.2

4) 98.5 cm?

98.5 {72

Correct Answer: 98.5 cm?
98.5 q.#.2

Candidate Answer: [ NOT ANSWERED ]

Question 69.If the elevation of the Sun changes from 30° to 60° , then the difference between the lengths of shadows of a pole 15 m high, is

S G & 31T 30° F §¢ R 60° & AT & AT B 15 HeX T T i worsat S avarsat 7 1 ek gan ?
Options:

1)7.5m

7.5 #rex

2)15m

15 #Hrex

3) 10v3m

10V3 #Hex

4)5V3m

5v3 X

Correct Answer: 10V3 m
10V3 AieX

Candidate Answer: [ NOT ANSWERED ]



Question 70.If a sum of Rs.12500 is invested for 1 year at 12% per annum interest being compounded semi-annually, then interest earned is

g Rs. 12500 & AR T 12% a1 iy ex A 1 a9 & fow Fder fvar smw 31 saret & 3e-a1f¥e o0 & gaifora fhar se a frder sarst f@oe ?
Options:

1) Rs.1505

2) Rs.1535

3) Rs.1545

4) Rs.1550
Correct Answer: Rs.1545
Candidate Answer: [ NOT ANSWERED ]

Question 71.
If tan(a — B)=1,5ec (a+ B)= 1\2_3 and a

B are positive then the smallestvalue of ot is

e tan (@ — B)=1,5¢c (a+ ,G]=j—-335f3ﬂ7\ra,

B EIATcHSE BT ol el vgaidd Hiel &1 7

Options:
1)

1425

2)

18?1—
2

3)
43
=

4)
10
37?

Correct Answer:
187 E
2

Candidate Answer: [ NOT ANSWERED ]

Question 72.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

gt T 31T Ui 91 TR @ & IRGR & et #El 9% S0 TUT Sad 1 &RATAT &1 TIC I TETIA HITTT 20T 3H G TR TR&AT o 3cc< ST |

e Food
54°
Education
90"
7
] T
Entertainment 13 iz
14°
1087
Transport
15
Sawvings
Clothing 358

Miscellanegus
The amount spent on food exceeds the total amount spent on education and clothing by

SrSTeT UR T T I TR RIGT U7 T R MR o7 b a1l ood T F Tohctahy 31f@h ¢ 2



Options:
1)

122 9
2) 25%
3)

3319
Eﬂ’u

4) 50%
Correct Answer:
1229

Candidate Answer: [ NOT ANSWERED ]

Question 73.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

TgT few 1T Ui$ A AT U9 & uRaR & [{(ffet #el W eag Tur 99 Y @i §1 T0E & 3d HISTT a2 37 W 3TRT 9211 & 3cdR ST |

Food
Rent i
547
Education
gﬂﬂ
7 _l
Entertainment 13° =
14°
108°
Transport
1=
Sawvings
Clothing 36°

Miscellanegus
What percent of his income does Mr. Rao save ?

AT Ta 319t 3T FHfehdett ufaerd Hrsad ad & ?

Options:
1) 25%

2) 30%
3) 33%4%

4) 36%
Correct Answer: 30%
Candidate Answer: [ NOT ANSWERED ]



Question 74.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

gt T 31T Ui 91 TR @ & IRGR & faffee #El IR <3 TUT Sad 1 &RATAT &1 TC I ETIA HITTT 2T 3H IR TR T2&AT o 3cc< ST |

e Food
54°
Education
goﬂ
7
Entertainment 13 iz
14°
1087
Transport
15
Sawvings
Clothing 358

Miscellanegus
If the total income of Mr.Rao is Rs.72000 ,how much house rent does he pay ?

i TATEY 1 T et AR 3T Rs. 72000 & 6T T8 fehctalt ITRY #Hehiet & o A 2 & ?

Options:
1) Rs.5400

2) Rs.9000
3) Rs.10800

4) Rs.12000
Correct Answer: Rs.10800
Candidate Answer: [ NOT ANSWERED ]

Question 75.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

JgT faT 1T Ui e TAE Ta & URaR & [Affeet #El W 0 a1 9= oY G2ffdT §1 DM€ T 318l RIfSIT a1 7 U MR 92611 & 3ca< &l |

Rent Food
54°
Education
ag®
ar
Entertainment 1z =
14°
108
Transport
18°
Sawings
Clothing 16°

Miscellaneous
What percent of his income , does Mr. Rao spend on clothing , transport and entertainment combined together ?

ey T e, aRage iR AARTT TX Foot e A 37T 3T T fabctatT TfciereT 97 @ et € 2

Options:
1)

331%'r
27

2) 27%
3) 25%

4)
125 %



Correct Answer:
125 %

Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

OBSEQUIOUS

Options:

1) DEFIANT

2) DISHONEST

3) SERVILE

4) HONEST

Correct Answer: SERVILE

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

RUGGED

Options:

1) HARD

2) STURDY

3) SMOOTH

4) ROUGH

Correct Answer: SMOOTH

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Counterfeit

2) Counterfeet

3) Counter feet

4) Counterfiet

Correct Answer: Counterfeit

Candidate Answer: Counterfiet

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

When the stranger saw me, (A) / he seemed to recognise me (B) / and asked me what was my name. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

My lawn (A) / which is overgrown (B) / needs weeding (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Every man in this world (A) / wishes to live long (B) / but nobody wanted to grow old. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

One should always set some money for emergency.



Options:

1) aside

2)on

3) by

4) out

Correct Answer: aside

Candidate Answer: aside

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The train is expected to arrive in a few minutes platform six.
Options:

1)in

2) above

3) near

4) on

Correct Answer: on

Candidate Answer: on

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I haven't had opportunity to study during the day.
Options:

1) very

2) many

3) much

4) more

Correct Answer: much

Candidate Answer: more

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Cheek by jowl

Options:

1) Very close together

2) Arguing

3) Teasing one another

4) Avoiding one another

Correct Answer: Very close together
Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Beyond the pale

Options:

1) Unreasonable or unacceptable

2) Beyond redemption

3) Full of rhetoric

4) Distasteful

Correct Answer: Unreasonable or unacceptable

Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Blow one's own trumpet
Options:

1) Play some music

2) Surprise oneself

3) Praise oneself

4) Condone oneself

Correct Answer: Praise oneself
Candidate Answer: Praise oneself

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Shine with a bright but brief or irregular light
Options:

1) Whimper

2) Flicker

3) Cower

4) Mutter

Correct Answer: Flicker

Candidate Answer: Flicker



Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The act of setting free from bondage of any kind
Options:

1) Emancipation

2) Eradication

3) Indemnity

4) Emigration

Correct Answer: Emancipation

Candidate Answer: Eradication

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A disease that affects a large number of people in an area at the same time
Options:

1) Endemic

2) Epidemic

3) Epidermic

4) Endothermic

Correct Answer: Epidemic

Candidate Answer: Endemic

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Will you tell me who did accompany you to the airport?
Options:

1) when did accompany you

2) who must be accompanied you

3) who accompanied you

4) No improvement

Correct Answer: who accompanied you
Candidate Answer: who accompanied you

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Navinder and his wife departed for London by Air India yesterday.
Options:

1) to

2) towards

3) toward

4) No improvement

Correct Answer: No improvement
Candidate Answer: to

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The rain brought more respite from the heat.
Options:

1) much respite

2) most relief

3) severe drought

4) No improvement

Correct Answer: much respite
Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

He speaks so fast to be understood.
Options:

1) very fast to be understood

2) too fast to be understood

3) too fast that he cannot be understood
4) No improvement

Correct Answer: too fast to be understood
Candidate Answer: too fast that he cannot be understood

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

I and my parents live together.



Options:

1) Me and my parents
2) My parents and I
3) My parents and me
4) No improvement

Correct Answer: My parents and I
Candidate Answer: My parents and I

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact.”

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What should a person's mission statement begin with?
Options:

1) Your core values

2) What you want to acquire

3) Your monetary ambitions

4) Your next promotion

Correct Answer: Your core values
Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact.”

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What is the narrator's mission?

Options:

1) To discourage his friends and associates in every endeavour.
2) To improve the lives of all his associates.

3) To be aware of the strengths and weaknesses of his friends.
4) To ill-treat all.

Correct Answer: To improve the lives of all his associates.
Candidate Answer: To improve the lives of all his associates.

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact.”

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What does a 'win-win' relationship mean?

Options:

1) Every one must win always

2) There are no challenges

3) The relationship is beneficial to both parties

4) The competition is friendly

Correct Answer: The relationship is beneficial to both parties
Candidate Answer: The relationship is beneficial to both parties



Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact.”

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What are the suggested components of a 'mission statement'?
Options:

1) Win-win attitude, financial needs, knowledge

2) Core-values, material desires, financial needs

3) Academic qualifications, love, material desires

4) Core-values, joy, self- confidence

Correct Answer: Core-values, material desires, financial needs

Candidate Answer: Win-win attitude, financial needs, knowledge

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact.”

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

Who is responsible for designing a personal mission?
Options:

1) A Chief Executive Officer

2) The family and friends

3) The Individual

4) The company

Correct Answer: The Individual

Candidate Answer: The Individual



